

Journal homepage www.jzs.uos.edu.krd

Journal of Zankoi Sulaimani

Part-A- (Pure and Applied Sciences)

Effect of sowing dates, seeding rates, awn and flag leaf removal on yield and its components of Adana-99 bread wheat cultivar

Shang Haseeb Abdulqader Noori

University of Sulaimani - College of Agricultural Sciences - Sulaimani - Iraqi Kurdistan Region E-mail: <u>Shang.Abdalqadr@univsul.edu.iq</u>

Article info

Abstract

Original: 24/12/2017 Revised: 09/01/2018 Accepted: 06/02/2018 Published online:

Key Words:

Wheat, Planting dates, plant densities, removal treatments, yield and its components.

The experiment was performed, to assess the effect of different planting dates (15th Nov. 2015 to 25th Feb. 2016) each 20 days interval, different plant densities (120, 140, 160,180, 200 and 220) kg/ha and different removal treatments (control, awn, flag leaf and both- awn+flag leaf) removal and their interaction on grain yield and yield components of bread wheat cultivar (Adana-99). The experimental arrangement was a (6×6×4) factorial RCBD with three replicates. Grain yield with some of its components was measured such as (spike length, spike weight, number of spikelet/spike, number of grain/spike, weight of grain/spike, 1000- grain weight, harvest index, biological yield and grain yield).

The results of grain yield and its components can be summarized as follows: the planting dates significantly affect on these characters, (15th Nov. 2015) showed maximum values for all characteristics with the exception of harvest index produced by (25th Dec. 2015). The result of the effect of plant density on studying characters was significant, plant density 120 kg/ha produced maximum values for all characters with the exception of harvest index recorded by 180 kg/ha, biological yield produced by 220 kg/ha and grain yield recorded by 200 kg/ha. While the effect of removal treatments on yield and its components significantly responded to these effects. The control treatments produced maximum values for all characters with the exception of harvest index produced by both (awn+flag leaf) removal treatments.

Introduction

Wheat (*Triticum aestivum* L.), an autogamous annual plant considered to be among the staple crop worldwide as a food source [1]. However, the production of a wheat plant has also been affected by proving constraints. For instance, some of the stressing factors that result from the biotic environment in one way or the other contribute to the poor quality production of this wheat plants [2]. Additionally, these stressing factors also decrease the quantity of the wheat plant being produced [3]. Sink—source relations can regulate biomass production and assimilate allocation in plants [4]. Source limited seed yield of winter wheat (*Triticum aestivum* L.) under both high and temperate soil water content, but sink restriction was mostly observed under high soil water content [5]. The wheat grain yield mainly depends on the formation, translocation, partitioning and accumulation of assimilates during grain filling period. Also, photosynthetic activity of leaves and storage ability of the grains after anthesis are the main factors limiting wheat grain yield [6]. Removal of awn, flag leaf, 1st upper leaf blade, 2nd upper leaf blade, and other leaf blades reduced significantly spike weight, number of grains/spike, grain weight/spike and 1000-grain weight except for the number of spikelet/spike [7]. Long awns are considered to be an important component sign of the high- yielding wheat ideotype, particularly for wheat grown under water-limited

conditions [8]. The contribution of flag leaf is diverse too, and it was reported to vary between (0 to 43%). Flag leaf removal affected the number of grains/spike, grain weight, and spike grain yield [9, 10, 11 and 121. The effect of awns and 5 upper leaf blades on grain yield of wheat grown under different environments were determined. Yield was increased in the awned crops than in the awn removal (awnless) crops under all environmental conditions. Flag leaf made the greatest contribution to yield [13]. One of the most important objectives in agriculture is identifying best plant density to obtain desired yield. Optimum yield would be gained when the canopy has a maximum leaf area to absorb sunlight at the onset of reproductive stage [14]. Both plant density and row spacing have a big influence on the agricultural production by improving absorption of sufficient sunlight [15]. Distributing of plant affected the amount absorbed sunlight across the canopy. Thus the main effect of planting pattern and plant density on a crop is mainly due to difference how sunlight would distribute through the canopy and increasing sunlight absorption would cause improving yield [16]. Radiation absorbing is low at thick densities and the coefficient of their photosynthetic output is very low, on the other hand, sufficient sunlight isn't absorbed in thicker densities, but photosynthetic output is very lower due to mutual shadowing leaves, therefore, maximum sunlight absorption for a period longer than a growing season is very important in the canopy. Desirable density gained when a canopy has a maximum leaf area for absorbing sunlight [14]. Wheat yield is low on account of many biotic and abiotic factors. Among these, the time of sowing and planting density are of great significance which limit the proper stand establishment of growing crops through balancing the plant to plant competition and at the latest affected the yield [17; 18]. It has been observed that early sowing gives high yield than late sowing due to longer growing period [19; 20]. Earlier sowing resulted in the better development of grain due to longer growing period [21]. Early planting of wheat gives higher yield than delay in planting due to long planting in period [20]. The sowing of the crop from (early November to early December) produced a higher grain yield as compared to late sowing. Late wheat crop sown from mid to end of December produced a reduced yield from 27-59% [22]. Results specified that delayed sowing is accompanied by essential losses in grain yield evaluated by 7.98% as compared with early and the affected number of days to flowering, maturity and grain filling period [23, 24 and 25].

Hence, the objectives of this study were to determine the role of flag leaf and awns of bread wheat varieties (Adana-99) under rainfed conditions of different planting density, different planting dates and participation of the flag leaf, and awns on yield and its components.

Materials and Methods

The experiment was conducted, under rainfed conditions, in the College of Agricultural Science Research Station at Qlyasan, College of Agricultural Science, University of Sulaimani, during the winter seasons of 2015-2016. The present research carried out by employing the use of bread wheat cultivar (Adana-99). In order to study the response of the cultivar under six planting dates (15th Nov. 2015 to 25th Feb. 2016) with 20 days interval, six plant densities (120, 140, 160,180, 200 and 220) kg/ha and four removal treatments which were (control, awns removal, flag leaf removal and both- flag leaf + awns removal) and their interaction on yield and yield components. The experimental design was conducted according to the $(6\times6\times4)$ factorial CRBD with three replications. Each plot comprised five rows of 2.0 m length with row-row distance of 0.2 m and the plot size was 2 m². The land was well prepared by plowing 2 times in order to make a convenient seedbed for better germination and emergence.

The data were statistically analyzed according to the methods of analyses of variance as a general test, and combined analysis of variance across locations was conducted. All possible comparisons among the means were carried out using L. S. D. Test (Least Significant Difference) at a significant level of 5 % whenever significant they show their significant differences [26].

Studied characters:

Yield and its components:

- 1- Spike length (cm): Ten spikes were randomly selected from each treatment. Each spike was measured from the base (neck) of the spike to the apex excluding awn to record the spike length in centimeters..
- 2- Spike weight (g): Spike weight (g) was recorded by using digital electronic balance at harvest.
- 3- No. of spikelet/spike: All fertile and sterile spikelets were measured.
- 4- No. of grains/spike: Number of grains/spike were counted from ten randomly selected spikes in each replication at harvest.
- 5- Weight of grain/spike (g): Weight of grain/spike (g) was recorded by using digital electronic balance at harvest.
- 6- 1000- Grain weight (g): 1000-grain weight (g) was obtained at random from each treatment and weighted were taken by digital electronic balance.
- 7- Grain yield (tons/ha): One (m²) was harvested for each treatment, then converted to grain yield (ton/ha).
- 8- Biological yield (ton/ha): Biomass (shoot) yield was recorded in kg and then converted into ton/ha at harvest.
- 9- Harvest index (H.I.): Measured by separating the grains from the straw (above ground biomass without roots) yield and weighted to calculate the H.I. according to the following equation [27].

$$H.I. = \frac{\text{Grain yield}}{\text{biomass yield}}$$

Results and Discussion

Table (1) yield and yield components significantly affected by planting date, for example planting date at (15th Nov. 2015) recorded maximum value for spike length, spike weight, number of spikelets/spike, number of grains/spike, weight of grains/spike, 1000- grain weight, biological yield and grain yield with (7.844 cm, 1.562 g, 14.231, 33.015, 1.296 g, 33.617 g, 11.666 tons/ha and 4.774 tons/ha), respectively, with the exception of harvest index (0.456 tons/ha) produced by (25th Dec. 2015), One of the most important factors influencing the wheat yield is sowing time. Many researchers have carried out some studies on sowing times of wheat and found different results [28; 29]. The sowing wheat on 25th Octoberand 10th November produced the highest spike length, 1000-grain weight and the grain yield, which subsequently decreased with consecutive sowing dates [30]. These results indicated that a moderate plant density had a positive effect on grain yield, while a low and high plant density could negatively affect grain yield [31].

Table- 1: Effect of planting dates on the studied characters.

Planting Dates	Spike length (cm)	Spike weight (g)	No. of spikelets/ Spike	No. of grains/ Spike	Weight of grains/ spike (g)	1000 grain weight (g)	Harvest index	Biological yield (tons/ha)	Grain yield (tons/ha)
15 th Nov. 2015	7.844	1.562	14.231	33.015	1.296	33.617	0.414	11.666	4.774
5 th Dec. 2015	7.179	1.348	13.745	29.788	1.214	28.925	0.453	10.516	4.726
25 th Dec. 2015	6.299	1.245	11.913	27.851	1.054	31.388	0.456	10.377	4.714
15 th Jan. 2016	6.093	0.990	11.005	20.889	0.839	28.437	0.438	8.876	3.884
5 th Feb. 2016	5.263	0.963	10.037	20.723	0.832	26.607	0.428	6.720	2.878
25 th Feb. 2016	4.589	0.822	10.021	17.853	0.714	24.566	0.351	5.483	1.931
L.S.D _(P≤0.05)	0.188	0.025	0.183	0.214	0.012	0.214	0.006	0.081	0.045

Data in (Table 2) it was noticed that the plant density significantly affected on all measured characters. Plant density (120 Kg/ha) recorded maximum value for spike length, spike weight, number of spikelets/spike, number of grains/spike, weight of grains/spike and 1000- grain weight, with (6.640 cm, 1.408 g, 12.678, 28.051, 1.258 g and 30.142 g), respectively, with the exception of harvest index (0.438) recorded by 180 kg/ha, biological yield (10.099 ton/ha) produced by 220 kg/ha and grain yield 4.337 ton/ha) recorded by 200 kg/ha. Plant density is an important factor that affect the growth and yield formation in wheat [32; 33]. Previous studies have focused on identifying the optimal density for wheat cultivation. But the results differ based on the experimental conditions and tested parameters [34; 35]. In wheat, the number of spikelets/spike changes under different planting densities [36]. With enough photosynthetic matter during the grain filling stage in thicker density is possible reason to lessening 1000-grain weight due to increasing density [37].

Table- 2: Effect of plant density on the studied characters.

Plant Density (Kg/ha)	Spike length (cm)	Spike weight (g)	No. of spikelets/ Spike	No. of grains/ Spike	Weight of grains/ spike (g)	1000 grain weight (g)	Harvest index	Biological yield (tons/ha)	Grain yield (tons/ha)
120	6.640	1.408	12.678	28.051	1.258	30.142	0.397	7.759	3.100
140	6.221	1.315	12.390	26.793	1.134	29.519	0.425	7.816	3.382
160	6.252	1.167	12.099	25.728	1.012	29.230	0.425	8.732	3.749
180	6.262	1.051	11.408	24.442	0.908	28.834	0.438	9.146	4.018
200	6.073	1.009	11.294	23.056	0.846	28.432	0.427	10.086	4.337
220	5.820	0.978	11.082	22.049	0.793	27.383	0.427	10.099	4.321
<i>L.S.D</i> _(<i>P</i>≤0.05)	0.188	0.025	0.183	0.214	0.012	0.214	0.006	0.081	0.045

Table (3) shows the effect of removal treatments on grain yield and its components, indicating the presence of the significant effect of removal treatments on all characters. Control treatment recorded the highest value for spike length, spike weight, number of spikelets/spike, number of grains/spike, weight of grains/spike, 1000- grain weight, biological yield and grain yield with (6.768 cm, 1.330 g, 12.626, 27.873, 1.154 g, 31.384 g, 9.727 tons/ha and 4.119 tons/ha), respectively, with the exception of harvest index recorded by both (awn+flag leaf) removal. Removing of flag leaf and all leaves significantly reduce the number of grain/spike, 1000- grain weight and yield/main spike [11]. The number of grains/spike 1000- grain weight and grain yield/spike decreased with the removal of flag leaf in bread wheat recorded by [38]. Awns play a dominant role in participating to large grains and a high grain yield in awned wheat cultivars, particularly during the grain-filling stages [39].

Table- 3: Effect of removal treatments on the studied characters.

Removal Treatments	Spike length (cm)	Spike weight (g)	No. of spikelet/ Spike	No. of grains/ Spike	Weight of grains/ spike (g)	1000 grain weight (g)	Harvest index	Biologic al yield (tons/ha	Grain yield (tons/ha)
Control	6.768	1.330	12.626	27.873	1.154	31.384	0.419	9.727	4.119
Awn	6.294	1.230	11.966	24.936	1.056	29.704	0.421	9.195	3.911
Flag Leaf	6.037	1.082	11.609	25.238	0.926	28.066	0.423	8.689	3.703
Both	5.745	0.979	11.099	22.032	0.832	26.540	0.430	8.148	3.538
L.S.D $_{(P\leq 0.05)}$	0.154	0.021	0.149	0.175	0.010	0.175	0.005	0.066	0.037

Table (4) explains the combination effect between planting dates and plant density on grain yield and its components, indicating that the studied characters responded significantly to this effect. Where maximum spike length, number of spikelets/spike, number of grains/spike, weight of grains/spike and 1000- grain weight were (8.077 cm, 16.169, 35.793, 1.605 g and 36.100 g), respectively exhibited by the combination between 15th Nov. 2015 under the planting density of 120 kg/ha. Maximum spike weight was 1.912 exhibited by the combination between 15th Nov. 2015 under the planting density of 140 kg/ha. Regarding the character of harvest index maximum harvest index was 0.494 responded to the combined effect between 25th Dec. 2015 under the planting density of 180 kg/ha. Maximum biological yield was 13.490 exhibited by 15th Nov. 2015 and 200 kg/ha, while the maximum grain yield was 5.477 recorded by the interaction between 5th Dec. 2015 and 200 kg/ha. These findings are supported by [40] who reported significant variation in the number of grains/spike with sowing dates. The possible reason could be due to suitable temperature during seed development and the number of branches/plant with more productive spikes, and this resulted in a greater number of grains/spike. The results were matched with other workers [41] who observed that the number of grains/spike had significant affected on plant densities. Our result was supported by [42], who reported that planting dates and seeding rates had a significant effect on the grain yield.

Table- 4: The interaction effect of planting dates and plant density on the studied characters.

Planting dates × Plant Density (Kg/ha)	Spike length (cm)	Spike weight (g)	No. of spikelets/ Spike	No. of grains/ Spike	Weight of grains/ spike (g)	1000 grain weight (g)	Harvest index	Biological yield (tons/ha)	Grain yield (tons/ha)
15 th Nov. 2015× 120	8.077	1.786	16.169	35.793	1.605	36.100	0.419	9.805	4.100
15 th Nov. 2015× 140	7.906	1.912	14.956	35.287	1.564	34.845	0.470	8.920	4.184
15 th Nov. 2015×160	7.844	1.518	14.738	34.363	1.360	33.932	0.391	12.427	4.845
15 th Nov. 2015×180	7.627	1.379	12.625	33.018	1.140	33.002	0.383	13.271	5.086
15 th Nov. 2015× 200	7.974	1.489	13.575	31.083	1.121	32.933	0.402	13.490	5.416
15 th Nov. 2015× 220	7.634	1.285	13.322	28.544	0.987	30.892	0.416	12.082	5.016
5 th Dec. 2015×120	7.955	1.643	15.124	35.406	1.529	28.806	0.444	8.283	3.642
5 th Dec. 2015×140	7.026	1.524	14.840	30.578	1.424	28.681	0.472	9.010	4.248
5 th Dec. 2015×160	7.256	1.291	13.758	29.412	1.239	30.418	0.489	9.917	4.851
5 th Dec. 2015× 180	7.290	1.293	13.162	29.104	1.099	28.232	0.477	10.267	4.895
5 th Dec. 2015× 200	6.608	1.190	12.763	27.108	1.008	28.648	0.427	12.809	5.477
5 th Dec. 2015× 220	6.942	1.148	12.823	27.121	0.987	28.765	0.409	12.808	5.244
25 th Dec. 2015×120	6.891	1.471	13.228	31.504	1.347	33.030	0.383	10.413	3.984
25 th Dec. 2015×140	6.402	1.359	12.840	31.252	1.114	31.184	0.477	8.909	4.242
25 th Dec. 2015×160	6.246	1.305	12.030	29.329	1.101	30.903	0.459	9.803	4.499
25 th Dec. 2015× 180	6.251	1.136	10.796	26.339	0.988	31.676	0.494	10.012	4.946
25 th Dec. 2015× 200	6.020	1.041	11.278	25.257	0.884	31.469	0.491	10.865	5.330
25 th Dec. 2015× 220	5.982	1.160	11.303	23.429	0.891	30.067	0.431	12.260	5.281
15 th Jan. 2016×120	6.154	1.347	11.594	24.228	1.173	29.435	0.388	8.137	3.109
15 th Jan. 2016×140	5.661	1.144	10.574	22.415	1.002	28.957	0.374	9.209	3.430
15 th Jan. 2016× 160	5.843	1.020	10.511	20.623	0.796	28.035	0.456	8.217	3.730
15 th Jan. 2016×180	6.959	0.885	11.319	20.152	0.719	27.733	0.476	8.340	3.969
15 th Jan. 2016×200	5.815	0.787	10.827	18.294	0.648	27.990	0.451	9.571	4.312
15 th Jan. 2016×220	6.129	0.760	11.207	19.618	0.698	28.472	0.486	9.781	4.756

5 th Feb. 2016×120	5.664	1.134	10.211	22.614	0.992	27.994	0.416	5.627	2.335
5 th Feb. 2016×140	5.786	1.084	10.850	22.100	0.901	27.976	0.418	6.343	2.650
5 th Feb. 2016× 160	5.351	0.983	10.751	21.940	0.780	26.923	0.409	6.700	2.737
5 th Feb. 2016×180	5.091	0.882	10.058	20.135	0.822	27.231	0.436	7.123	3.106
25 th Feb. 2016×200	5.513	0.869	9.579	18.804	0.807	25.721	0.433	7.428	3.214
5 th Feb. 2016×220	4.174	0.826	8.771	18.746	0.688	23.797	0.455	7.096	3.227
25 th Feb. 2016× 120	5.101	1.069	9.741	18.763	0.899	25.486	0.334	4.288	1.431
25 th Feb. 2016×140	4.547	0.870	10.281	19.128	0.797	25.470	0.342	4.503	1.538
25 th Feb. 2016×160	4.970	0.889	10.808	18.700	0.796	25.168	0.344	5.330	1.833
25 th Feb. 2016×180	4.354	0.734	10.485	17.900	0.677	25.131	0.361	5.862	2.105
25 th Feb. 2016× 200	4.507	0.679	9.742	17.792	0.609	23.834	0.359	6.354	2.275
25 th Feb. 2016×220	4.057	0.691	9.067	14.838	0.508	22.304	0.366	6.565	2.403
<i>L.S.D</i> (<i>P</i> ≤0.05)	0.461	0.062	0.448	0.524	0.029	0.524	0.015	0.198	0.111

Data in Table (5) explained the combination effect between planting dates and removal treatments for grain yield and its components. Spike weight, number of spikelets/spike, number of grains/spike, weight of grains/spike, 1000- grain weight, harvest index, biological yield and grain yield responded significantly to this combination, while it was non-significant only for the character spike length. Maximum values for spike weight, number of spikelets/spike, number of grains/spike, weight of grains/spike, 1000- grain weight, biological yield and grain yield was (1.725 g, 15.093, 36.413, 1.497 g, 36.614 g, 12.796 ton/ ha, and 5.144 tons/ha), respectively produced by the interaction between (15th Nov. 2015 and Control), while maximum value of harvest index was 0.462 produced by the interaction between (25th Dec. 2015 and flag leaf removal treatments). Our results are also proving the finding of [21] that reported that in late sowing the grain yield ton/ha reduced due to a short growing period.

The harmful effect of delaying sowing on grain yield was maximum with reduction in 1000- grain weight [43; 44]. A reduction in grain yield was reported 3-9% when awnes were removed 10 days after anthesis by [45].

Table- 5: The interaction effect of planting dates and removal treatments on the studied characters.

Planting dates × Removal treatments	Spike length (cm)	Spike weight (g)	No. of spikelets/ Spike	No. of grains/ Spike	Weight of grains/ spike (g)	1000 grain weight (g)	Harvest index	Biologica l yield (tons/ha)	Grain yield (tons/ha)
15 th Nov. 2015×Control	8.421	1.725	15.093	36.413	1.497	36.614	0.406	12.796	5.144
15 th Nov. 2015×Awn	8.067	1.636	14.430	32.543	1.382	34.942	0.412	12.030	4.932
15 th Nov. 2015×Flag leaf	7.554	1.501	14.012	33.276	1.213	32.553	0.411	11.448	4.639
15 th Nov. 2015×Both	7.333	1.385	13.388	29.827	1.093	30.359	0.426	10.390	4.384
5 th Dec. 2015×Control	7.647	1.571	14.592	32.556	1.404	31.032	0.454	11.215	5.073
5 th Dec. 2015×Awn	7.169	1.459	13.906	29.638	1.297	29.642	0.452	10.826	4.873
5 th Dec. 2015×Flag leaf	7.132	1.258	13.485	30.015	1.137	28.045	0.451	10.183	4.544
5 th Dec. 2015×Both	6.770	1.105	12.997	26.944	1.019	26.982	0.455	9.839	4.414
25 th Dec. 2015×Control	6.957	1.421	13.197	30.990	1.216	33.671	0.454	11.096	5.018
25 th Dec. 2015×Awn	6.453	1.307	12.171	27.442	1.100	31.862	0.452	10.674	4.813
25 th Dec. 2015×Flag leaf	6.040	1.147	11.501	28.069	0.992	30.649	0.462	10.028	4.609
25 th Dec. 2015×Both	5.745	1.105	10.782	24.904	0.908	29.371	0.456	9.711	4.414

15 th Jan. 2016×Control	5.172	1.151	11.988	23.529	0.990	30.970	0.431	9.821	4.233
15 th Jan. 2016×Awn	6.128	1.074	11.213	20.936	0.908	28.842	0.430	9.129	3.922
15 th Jan. 2016×Flag leaf	5.834	0.931	10.640	21.074	0.768	27.692	0.434	8.700	3.778
15 th Jan. 2016×Both	5.594	0.806	10.180	18.015	0.691	26.244	0.459	7.852	3.604
5 th Feb. 2015×Control	5.755	1.111	10.486	23.133	0.967	28.943	0.428	7.326	3.141
5 th Feb. 2015×Awn	5.246	1.017	10.028	20.991	0.878	27.116	0.428	6.805	2.914
5 th Feb. 2015×Flag leaf	5.172	0.907	10.030	20.922	0.780	25.806	0.428	6.530	2.797
5 th Feb. 2015×both	4.880	0.817	9.603	17.847	0.702	24.562	0.427	6.217	2.660
25 th Feb. 2015×Control	5.014	1.001	10.401	20.619	0.847	27.073	0.343	6.107	2.105
25 th Feb. 2015×Awn	4.703	0.886	10.049	18.068	0.767	25.819	0.352	5.705	2.013
25 th Feb. 2015×Flag leaf	4.492	0.748	9.986	18.073	0.667	23.648	0.352	5.244	1.852
25 th Feb. 2015×Both	4.147	0.654	9.646	14.653	0.577	21.723	0.357	4.878	1.753
<i>L.S.D</i> (<i>P</i> ≤0.05)	n.s	0.050	0.366	0.428	0.024	0.428	0.012	0.162	0.091

Table (6) explained the effect of the interactions among plant density and removal treatments on some grain and its components. It was confirmed that the characters of spike weight, number of grains spike, weight of grains/spike, 1000 grain weight, harvest index, biological yield and grain yield responded to this combination significantly, while the character of spike length and number of spikelets/spike responded non significantly to this interaction effect. The maximum values for spike weight, number of grains spike weight of grains/spike, 1000 grain weight were (1.587 g, 31.246, 1.453 g and 32.799 g), respectively produced by the interaction between (120 kg/ha and the treatment of Control). Maximum value for harvest index was 0.450 produced by the interaction between (180kg/ha and both removal treatments). While maximum values for biological yield grain yield were (10.869 tons/ha and 4.661 tons/ha grain yield ton/ha) produced by interaction between (220 kg/ha and the treatment of Control). Plant density affected on grain yield and many characteristic were reported by [46]. Effect of flag leaf removal was significant for all the characters except for spikelets/spike reported by [47].

Table- 6: The interaction effect of plant density and removal treatments on the studied characters.

Plant Density (kg/ ha) x removal treatments	Spike length (cm)	Spike weight (g)	No. of spikelets/ spike	No. of grains/ spike	Weight of grains/ spike (g)	1000 grain weight (g)	Harvest index	Biological yield (tons/ha)	Grain yield (tons/ha)
120 x Control	7.290	1.587	13.733	31.246	1.453	32.799	0.382	8.718	3.359
120 x Awn	6.652	1.505	12.899	27.772	1.344	31.034	0.387	8.191	3.182
120 x Flag leaf	6.502	1.324	12.322	28.108	1.184	29.041	0.405	7.343	3.005
120 x Both	6.117	1.218	11.758	25.079	1.050	27.693	0.415	6.784	2.854
140 x Control	7.039	1.549	13.399	29.779	1.327	32.333	0.423	8.482	3.652
140 x Awn	6.342	1.410	12.460	26.593	1.201	30.560	0.419	8.206	3.495
140 x Flag leaf	5.927	1.211	12.161	27.141	1.062	28.344	0.427	7.514	3.260
140 x Both	5.578	1.092	11.540	23.660	0.943	26.838	0.432	7.061	3.121
160 x Control	6.747	1.348	12.843	28.481	1.172	31.590	0.418	9.495	3.994
160 x Awn	6.168	1.238	12.263	25.473	1.089	29.752	0.428	8.790	3.820
160 x Flag leaf	6.157	1.107	12.027	26.027	0.930	28.563	0.425	8.561	3.683
160 x Both	5.935	0.976	11.264	22.930	0.856	27.015	0.427	8.083	3.500
180 x Control	6.810	1.232	12.187	27.459	1.057	31.171	0.438	9.983	4.401

JZS (2018) Special Issue, 2ndInt. Conference of Agricultural Sciences

180 x Awn	6.498	1.121	11.538	24.464	0.964	29.796	0.435	9.442	4.136
180 x Flag leaf	5.968	0.976	11.059	24.569	0.852	28.112	0.430	9.015	3.881
180 x Both	5.772	0.876	10.846	21.274	0.758	26.257	0.450	8.144	3.653
200 x Control	6.546	1.161	11.928	25.775	0.993	30.756	0.426	10.815	4.647
200 x Awn	6.278	1.080	11.500	23.139	0.895	29.022	0.430	10.179	4.419
200 x Flag leaf	5.870	0.958	11.145	23.347	0.793	27.768	0.423	9.874	4.183
200 x Both	5.597	0.838	10.603	19.964	0.704	26.184	0.429	9.477	4.098
220 x Control	6.179	1.101	11.666	24.501	0.919	29.654	0.428	10.869	4.661
220 x Awn	5.827	1.025	11.137	22.177	0.841	28.059	0.425	10.362	4.415
220 x Flag leaf	5.801	0.914	10.939	22.236	0.735	26.565	0.427	9.825	4.207
220 x Both	5.471	0.873	10.586	19.282	0.677	25.253	0.428	9.339	4.002
L.S.D _(P≤0.05)	n.s	0.050	n.s	0.428	0.024	0.428	0.012	0.162	0.091

Table (7) explained the triple combination between the studied factors; Planting dates, plant density, and removal treatments on grain yield and its components. Significantly combination between Planting dates, plant density, and removal treatments, observed for the characteristics; spike weight, number of grains/spike, weight of grains/spike, 1000 grain weight, harvest index, biological yield and grain yield, with the exception of spike length and number of spikelets/spike were found to be non-significant. Maximum value to spike weight was 2.160 g exhibited by the combination between (15th Nov. 2015 under the planting densities of 140 kg/ha, and the treatment of control). Maximum number of grains/spike, weight of grains/spike and 1000 grain weight were 40.098, 1.862 g and 38.916 g, respectively produced by the combination between (15th Nov. 2015 under the planting densities of 120 kg/ha and the treatment of control). Maximum value of harvest index was 0.497 produced by the combination between (15th Jan. 2016 under the planting densities of 220 kg/ha and the treatment of control). While maximum values of biological yield and grain yield were 14.803 tons/ha and 5.844 ton/ha, respectively produced by the combination between (15th Nov. 2015 under the planting densities of 200 kg/ha and the treatment of control).

Like planting dates, balance plant density have also a significant role in the crop production system of wheat. Wheat variety reacts in different ways to various levels of plant densities. Plant density affects the plant population, number of tillers/m², 1000 grain weight and straw yield [48]. As a result, the flag leaf, the awned and the second upper leaf blade are the most important photosynthesis part of the plant and nearly half of the dry material which is accumulated by the grain is obtained by these organs [49].

Table-7: The interaction effect of planting dates, plant density and removal treatments on the studied characters.

Plantig Dates	Plant Density (Kg/h)	Removal Treatmens	Spike length (cm)	Spike weight (g)	No. of spikelet/ spike	No. of grains/ Spike	Weight of grains/ spike (g)	1000 grain weight (g)	Harvest index	Biologic al yield (tons/ha)	Grain yield (tons/ha)
		Control	8.917	1.788	17.083	40.098	1.862	38.916	0.408	10.733	4.378
	100	Awn	8.093	1.955	16.433	34.867	1.638	37.704	0.405	10.460	4.242
	120	F. leaf	8.039	1.763	15.993	35.474	1.586	34.484	0.433	9.339	4.033
		Both	7.257	1.639	15.167	32.733	1.335	33.294	0.431	8.687	3.746
		Control	8.897	2.160	15.833	39.167	1.824	38.136	0.469	9.651	4.528
	1.40	Awn	8.124	1.960	14.773	34.506	1.691	36.263	0.453	9.570	4.331
	140	F.leaf	7.370	1.824	15.033	35.533	1.462	33.940	0.474	8.607	4.082
		Both	7.233	1.703	14.183	31.941	1.280	31.042	0.483	7.852	3.794
		Control	8.767	1.698	15.467	37.633	1.567	37.156	0.374	13.865	5.184
	160	Awn	7.463	1.600	14.820	33.783	1.487	35.344	0.406	12.344	5.001
15 th Nov. 2015	160	F. leaf	7.853	1.434	14.580	34.650	1.244	33.153	0.383	12.416	4.753
2.2		Both	7.293	1.342	14.087	31.387	1.142	30.073	0.401	11.082	4.443
No		Control	8.283	1.614	13.833	36.040	1.334	36.122	0.387	14.403	5.566
5 _{th}	400	Awn	8.430	1.438	12.967	32.633	1.263	34.222	0.389	13.571	5.276
I	180	F. leaf	6.570	1.305	12.067	33.400	1.032	32.025	0.370	13.364	4.936
		Both	7.223	1.161	11.633	30.000	0.931	29.638	0.389	11.746	4.567
		Control	8.057	1.661	14.267	34.033	1.305	36.135	0.395	14.803	5.844
		Awn	8.010	1.526	13.900	30.633	1.208	33.961	0.404	13.617	5.492
	200	F. leaf	7.763	1.437	13.333	31.467	1.042	31.750	0.389	13.268	5.158
		Both	8.067	1.332	12.800	28.200	0.931	29.885	0.422	12.272	5.169
		Control	7.603	1.426	14.073	31.509	1.091	33.219	0.403	13.318	5.363
		Awn	8.280	1.338	13.687	28.833	1.007	32.157	0.416	12.619	5.248
	220	F. leaf	7.727	1.241	13.067	29.133	0.914	29.969	0.417	11.692	4.869
		Both	6.927	1.136	12.460	24.700	0.937	28.222	0.429	10.699	4.586
		Control	8.380	1.924	16.000	38.167	1.752	31.969	0.419	9.707	4.056
		Awn	7.560	1.750	15.190	34.618	1.657	29.325	0.414	8.955	3.702
	120	F. leaf	8.210	1.550	14.853	35.656	1.453	27.590	0.460	7.582	3.484
		Both	7.670	1.349	14.453	33.181	1.255	26.338	0.483	6.889	3.326
		Control	7.527	1.856	15.477	33.452	1.646	30.651	0.463	9.502	4.400
		Awn	7.010	1.765	14.847	30.511	1.532	29.771	0.483	9.003	4.344
	140	F. leaf	6.943	1.346	14.867	30.933	1.350	27.600	0.472	8.822	4.167
		Both	6.625	1.130	14.170	27.417	1.167	26.703	0.468	8.712	4.080
		Control	7.593	1.623	14.733	32.233	1.454	32.074	0.488	10.242	5.000
		Awn	7.063	1.436	13.930	29.766	1.356	30.961	0.494	10.017	4.949
15	160	F. leaf	7.263	1.174	13.500	29.333	1.115	30.151	0.491	9.788	4.805
20.		Both	7.103	0.930	12.867	26.314	1.031	28.486	0.483	9.620	4.648
5 th Dec. 20		Control	7.719	1.416	14.273	32.117	1.268	30.116	0.487	11.327	5.515
T ų		Awn	7.403	1.344	13.367	29.033	1.156	29.226	0.462	10.992	5.079
·v	180	F. leaf	7.283	1.271	12.657	29.233	1.037	27.333	0.478	9.799	4.678
		Both	6.753	1.139	12.350	26.033	0.934	26.252	0.481	8.950	4.306
		Control	7.147	1.294	13.433	30.300	1.170	30.901	0.451	13.160	5.932
		Awn	6.933	1.261	13.233	26.900	1.040	29.412	0.450	12.867	5.791
	200	F. leaf	6.357	1.153	12.500	27.733	0.949	27.603	0.398	12.694	5.048
		Both	5.993	1.053	11.883	23.500	0.949	26.676	0.398	12.516	5.138
		Control	7.513	1.311	13.633	29.067	1.135	30.480	0.411	13.352	5.536
		Awn	7.043	1.198	12.867	27.000	1.041	29.155	0.413	13.332	5.373
	220	F. leaf	6.735	1.054	12.533	27.200	0.920	27.990	0.410	12.413	5.084
		Both	6.474	1.034	12.333	25.217	0.920	27.434	0.410	12.413	4.983

Continue

Table 7: The interaction effect of planting dates, plant density and removal treatments on the studied characters.

Plantin g Dates	Plant Density (Kg/ha	Removal Treatment s	Spike length (cm)	Spike weight (g)	No. of spikelet/ spike	No. of grains/ spike	Weight of grains/ spike (g)	1000 grain weight (g)	Harvest index	Biologic al yield (tons/h)	Grain yield (tons/h)
		Control	7.572	1.714	14.803	34.815	1.550	35.945	0.386	11.267	4.341
	120	Awn	7.270	1.552	13.800	30.689	1.437	33.083	0.367	10.883	3.995
	120	F. leaf	6.450	1.355	12.433	31.653	1.245	31.704	0.385	9.955	3.829
		Both	6.273	1.262	11.877	28.857	1.154	31.390	0.395	9.548	3.770
		Control	7.404	1.550	14.226	34.285	1.329	34.674	0.472	9.874	4.661
	1.40	Awn	6.593	1.451	12.984	30.906	1.148	31.780	0.467	9.573	4.473
	140	F. leaf	5.980	1.273	12.333	32.015	1.025	29.797	0.487	8.226	4.006
		Both	5.630	1.161	11.817	27.800	0.953	28.483	0.481	7.963	3.829
		Control	6.578	1.451	13.273	32.333	1.217	33.393	0.446	10.853	4.843
	1.00	Awn	6.371	1.349	12.537	28.607	1.132	31.196	0.467	9.830	4.597
115	160	F. leaf	6.261	1.271	11.600	29.559	1.030	30.097	0.478	9.267	4.429
25 th Dec. 2015		Both	5.775	1.147	10.710	26.815	1.024	28.927	0.445	9.263	4.126
Дес		Control	6.840	1.332	12.657	29.675	1.127	33.557	0.495	10.605	5.243
2th		Awn	6.438	1.228	10.807	26.319	1.015	32.681	0.494	10.337	5.106
2	180	F. leaf	5.953	1.016	10.100	26.233	0.964	30.828	0.494	9.728	4.804
		Both	5.772	0.966	9.620	23.130	0.847	29.637	0.494	9.379	4.631
		Control	6.826	1.245	12.093	28.207	1.049	32.832	0.493	11.236	5.532
		Awn	6.217	1.109	11.533	24.900	0.921	31.837	0.487	11.024	5.365
	200	F. leaf	5.698	0.923	11.420	25.633	0.843	32.088	0.494	10.868	5.365
		Both	5.340	0.885	10.067	22.287	0.721	29.119	0.489	10.333	5.057
		Control	6.524	1.232	12.130	26.626	1.022	31.625	0.431	12.742	5.491
		Awn	5.827	1.154	11.367	23.233	0.948	30.593	0.431	12.742	5.340
	220	F. leaf	5.897	1.043	11.117	23.322	0.843	29.379	0.431	12.122	5.220
		Both									
			5.680	1.210	10.600 13.203	20.533 27.653	0.750	28.672 31.878	0.431 0.340	11.779 9.893	5.073
		Control	7.201	1.547			1.356				3.369
	120	Awn	6.133	1.462	11.840	24.527	1.347	29.927	0.373	8.482	3.161
		F. leaf	5.720	1.237	11.233	23.967	1.040	28.689	0.403	7.523	3.030
		Both	5.560	1.142	10.100	20.767	0.950	27.244	0.434	6.651	2.878
		Control	6.795	1.362	12.607	25.558	1.164	31.746	0.379	9.919	3.754
	140	Awn	5.712	1.255	10.757	21.903	1.058	28.892	0.354	9.653	3.417
		F. leaf	5.263	1.032	9.800	22.900	0.932	27.908	0.359	9.199	3.300
		Both	4.873	0.926	9.133	19.300	0.853	27.283	0.403	8.063	3.248
		Control	6.303	1.168	11.567	23.333	0.958	31.086	0.441	9.263	4.078
9	160	Awn	5.636	1.071	10.607	20.274	0.866	27.719	0.450	8.237	3.708
2016		F. leaf	5.571	0.985	10.250	21.342	0.714	27.021	0.452	8.000	3.616
ï.		Both	5.862	0.856	9.619	17.543	0.645	26.315	0.479	7.367	3.519
15 th Jan.		Control	7.552	1.037	11.423	22.547	0.867	30.379	0.484	9.133	4.418
15t	180	Awn	7.051	0.950	11.357	20.430	0.730	28.714	0.488	8.559	4.177
		F. leaf	6.845	0.813	11.000	20.283	0.670	27.135	0.449	8.516	3.817
		Both	6.389	0.740	11.497	17.348	0.609	24.703	0.484	7.151	3.462
		Control	6.338	0.939	11.523	20.778	0.755	30.195	0.446	10.197	4.544
	200	Awn	6.267	0.886	11.383	19.033	0.685	28.451	0.441	9.783	4.315
	200	F. leaf	5.447	0.777	10.333	17.900	0.622	27.407	0.453	9.300	4.212
		Both	5.207	0.544	10.067	15.467	0.529	25.906	0.464	9.003	4.175
		Control	6.715	0.851	11.603	21.304	0.842	30.537	0.497	10.522	5.235
	220	Awn	5.970	0.819	11.333	19.450	0.763	29.347	0.472	10.061	4.752
	220	F. leaf	6.159	0.744	11.223	20.052	0.627	27.992	0.486	9.661	4.695
		Both	5.673	0.627	10.667	17.667	0.559	26.011	0.489	8.878	4.341

Continue

Table 7: The interaction effect of planting dates, plant density and removal treatments on the studied characters.

Plantig Dates	Plant Density (Kg/ha	Removal Treatmens	Spike length (cm)	Spike weight (g)	No. of spikelet/ Spike	No. of grains/ spike	Weight of grains/ spike (g)	1000 grain weight (g)	Harvest index	Biologic al yield (tons/ha	Grain yield (tons/ha
	•	Control	6.069	1.312	10.777	24.664	1.157	29.773	0.416	5.934	2.466
	120	Awn	5.657	1.160	10.300	22.633	1.042	28.873	0.416	5.755	2.392
	120	F. leaf	5.653	1.051	10.050	22.643	0.942	27.400	0.413	5.493	2.268
		Both	5.275	1.013	9.717	20.517	0.828	25.930	0.416	5.325	2.214
		Control	6.457	1.244	11.533	24.200	1.046	29.719	0.417	6.736	2.813
	140	Awn	5.933	1.114	10.933	22.400	0.935	28.422	0.419	6.441	2.697
	140	F. leaf	5.533	1.029	10.667	22.133	0.864	27.265	0.417	6.187	2.582
		Both	5.220	0.948	10.267	19.667	0.759	26.499	0.417	6.007	2.507
		Control	5.860	1.100	11.117	23.683	0.922	28.809	0.409	7.078	2.891
	160	Awn	5.360	1.045	10.853	21.810	0.847	27.444	0.409	6.811	2.782
910	160	F. leaf	5.107	0.957	11.100	22.410	0.717	26.303	0.408	6.602	2.697
. 20		Both	5.077	0.830	9.933	19.856	0.634	25.135	0.409	6.311	2.579
Feb		Control	5.757	1.069	10.300	23.675	0.936	29.823	0.435	7.917	3.444
5 th Feb. 2016	100	Awn	5.253	0.923	10.233	20.600	0.863	27.716	0.435	7.079	3.078
•	180	F. leaf	4.933	0.833	9.967	20.333	0.753	26.620	0.440	7.037	3.093
		Both	4.420	0.700	9.733	15.933	0.736	24.764	0.435	6.461	2.810
		Control	6.060	0.983	10.133	21.067	0.947	27.994	0.433	8.082	3.501
	200	Awn	5.463	0.966	9.317	19.100	0.842	25.992	0.432	7.513	3.249
	200	F. leaf	5.407	0.829	9.567	19.383	0.761	24.900	0.432	7.198	3.113
		Both	5.120	0.700	9.300	15.667	0.679	23.997	0.432	6.920	2.992
		Control	4.327	0.956	9.053	21.510	0.793	27.539	0.455	8.210	3.734
	220	Awn	3.807	0.891	8.533	19.400	0.741	24.251	0.455	7.229	3.288
	220	F. leaf	4.396	0.744	8.830	18.630	0.641	22.350	0.455	6.665	3.031
		Both	4.167	0.713	8.667	15.444	0.574	21.049	0.455	6.280	2.855
		Control	5.600	1.235	10.533	22.077	1.039	28.311	0.324	4.771	1.546
	120	Awn	5.200	1.148	9.830	19.300	0.940	27.290	0.347	4.609	1.599
	120	F. leaf	4.938	0.991	9.367	19.257	0.838	24.381	0.333	4.167	1.387
		Both	4.667	0.901	9.233	14.417	0.779	21.964	0.331	3.603	1.193
		Control	5.153	1.120	10.720	22.010	0.956	29.069	0.337	5.207	1.756
	1.40	Awn	4.680	0.911	10.467	19.333	0.841	28.234	0.341	4.997	1.706
	140	F. leaf	4.470	0.763	10.267	19.333	0.743	23.557	0.353	4.041	1.422
		Both	3.883	0.684	9.670	15.833	0.648	21.020	0.337	3.766	1.269
		Control	5.380	1.049	10.900	21.667	0.915	27.022	0.347	5.669	1.967
	160	Awn	5.113	0.929	10.833	18.600	0.847	25.845	0.343	5.499	1.883
2016	160	F. leaf	4.885	0.824	11.133	18.867	0.762	24.650	0.339	5.294	1.796
. 7		Both	4.500	0.752	10.367	15.667	0.659	23.155	0.347	4.856	1.687
Fel		Control	4.709	0.925	10.633	20.700	0.811	27.028	0.341	6.511	2.222
25 th Feb.	100	Awn	4.410	0.844	10.500	17.767	0.755	26.218	0.343	6.117	2.099
7	180	F. leaf	4.220	0.619	10.567	17.933	0.653	24.731	0.347	5.643	1.958
		Both	4.075	0.549	10.240	15.200	0.491	22.549	0.414	5.178	2.142
		Control	4.850	0.842	10.117	20.267	0.731	26.481	0.342	7.411	2.532
		Awn	4.777	0.730	9.633	18.267	0.671	24.478	0.368	6.268	2.304
	200	F. leaf	4.547	0.628	9.717	17.967	0.540	22.859	0.373	5.919	2.206
		Both	3.853	0.516	9.500	14.667	0.492	21.520	0.354	5.815	2.058
		Control	4.393	0.833	9.500	16.993	0.629	24.525	0.369	7.069	2.610
		Awn	4.037	0.751	9.033	15.143	0.547	22.850	0.369	6.742	2.488
	220	F. leaf	3.893	0.661	8.867	15.080	0.465	21.709	0.366	6.398	2.344
		Both	3.903	0.520	8.867	12.133	0.392	20.131	0.359	6.051	2.171
		2011	2.703	0.520	0.007	12.100	0.072	1.048	0.007	0.001	,

Data represented in Table (8) explain mean squares of analysis of variance for the studies characters, It was noticed that the effect of planting dates-A, plant density-B, removal treatments-C and the interaction between planting dates and planting density (A×B) high significantly on all characters. The effect of interaction between planting dates and removal treatments (A×C) high significantly on all characters with the exception of spike length non significant effect and harvest index significantly. While the effect of interaction between plant density and removal treatment (A×C) and triple interaction between planting dates, plant density and removal treatments (A×B×C) high significantly for all characters with the exception of spike length and number of spikelet/spike non- significantly. Wheat yield is low on account of many biotic and abiotic factors. Among these, the time of sowing and planting density are of great significance which determine the proper stand establishment of growing crops through balancing the plant to plant competition and ultimately affected the yield [17; 18]. Long awns are considered to be an important component trait of the high- yielding wheat ideotype, especially for wheat grown under water-limited conditions [8].

T-1-1-	0. 1/1		- C	1:4	C	£ 41	.4	
i ame-	o: iviean	squares	oi ana	IVSIS O	i variance	ror the	studied characte	ars.

S.O.V	d.f	Spike length (cm)	Spike weight (g)	No. of spikelets/ spike	No. of grains/ spike	Weight of grains/ spike (g)	1000 grain weight (g)	Harvest index	Biologica l yield (Tons/ha)	Grain yield (tons/ha)
Replicates	2	0.416	0.018	3.517	3.318	0.002	16.478	0.001	0.015	0.110
Planting Dates (A)	5	103.020**	5.554**	239.143**	2614.481**	3.918**	758.858**	0.108**	415.590**	100.658**
Plant Density (B)	5	5.197**	2.207**	30.681**	372.230**	2.289**	65.596**	0.013**	77.786**	18.327**
Removal Treatments (C)	3	20.347**	2.610**	44.448**	616.573**	2.168**	470.802**	0.002**	49.484**	6.871**
(A×B)	25	1.502**	0.066**	5.476**	17.120**	0.067**	9.358**	0.013**	9.193**	0.381**
(A×C)	15	0.232 ^{n.s}	0.017**	1.400**	1.516**	0.014**	3.398**	0.001*	0.869**	0.091**
(B × C)	15	0.405 ^{n.s}	0.021**	0.510 ^{n.s}	0.873*	0.014**	1.158**	0.001**	0.425**	0.041**
$(\mathbf{A} \times \mathbf{B} \times \mathbf{C})$	75	0.207 ^{n.s}	0.011**	0.300 ^{n.s}	0.789**	0.004**	1.125**	0.001**	0.271**	0.039**
Exp. Error	286	0.3290	0.0059	0.3106	0.4248	0.0013	0.4250	0.0003	0.0608	0.0191

Conclusion:

Late sowing gradually decreased the yield. It is, therefore, suggested that planting of wheat crop in the investigational zone may be completed before 25th February. The postponement of the planting of wheat led to a sharp decrease in grain yield. Density profits more from sunlight because of the distribution of plants and the penetration of light to form a canopy. Timing planting dates and plant densities are essential for maximum production of all wheat cultivars in response to the use of favorable conditions for photosynthesis. As a result, flag leaf was the most important photosynthetic of bread wheat during the grain filling stage. Besides, awns performed and effective role in photosynthesis, especially under the drought conditions. Thus, it was concluded that in order to obtain the maximum yield from bread wheat (Adana-99) it is recommended to grow this cultivar from 15th November with 120 kg/ha plant density and control (non removal treatments) to increase productivity of wheat.

References

- [1] Mollasadeghi, V. and Shahryari, R. "Important morphological markers for improvement of yield in bread wheat", Advences Environ Biol, Vol. (5), No.3, pp.538-542. (2012).
- [2] Minhas, P.S., J. Rane, and R.K. Pasala. "Abiotic Stresses in Agriculture: An Overview. In Abiotic Stress Management for Resilient Agriculture". Springer, ISBN: 9811057435, pp.3-8. (2017).

- [3] Tiwari, M., D. Sharma, and P.K. Trivedi. "Artificial Micro RNA mediated gene silencing in plants: progress and perspectives". Plant molecular biology, Vol. (86), No.1-2, pp.1-18. (2014).
- [4] Ahmadi, A., Ehsanzadeh, P. and Jabari, F. "Introduction to plant physiology", University of Tehran, Tehran. pp.653. (2004).
- [5] Madani A., Shirani-Rad A., Pazoki A., Nourmohamadi G., Zarghami R. and Mokhtassi- Bidgoli A. "The impact of source or sink limitations on yield formation of winter wheat (Triticum aestivum L.) due to post- anthesis water and nitrogen deficiencies", Plant soil Environment, Vol. (56), pp.218-227. (2010).
- [6] Emam, Y. and Seghatoleslami, MJ. "Crop Yield". Shiraz University Press. Iran, ISBN.964-462-362-2 593. (2005).
- [7] Alpay, B., T. Genctan, and O. Bilgin. "Effect of removal of any photosynthetic organs of yield components in bread wheat (Triticum aestivum L.)", Bangladesh j. Agril. Res. Vol. (36), No.1, pp.1-12. (2011).
- [8] Reynolds, M. and Tuberosa, R. "Translational research impacting on crop productivity in drought-prone environments", Current opinion in Plant Biology, Vol. (11), pp.171-179. (2008).
- [9] Saeidi, M., F. Moradi and S. Jalali- honarmand. "The effect of post anthesis source limitation treatments on wheat cultivars under water deficit", Australian journal of crop science, Vol. (6), No.7, pp.1179-1187. (2012).
- [10] Alvaro, F.C., L.F. Royo, M. Garcia and D. Villegas. "Grain filling and dry matter translocation responses to source- sink modifications in a historical series of durum wheat", Crop science, Vol. (48), pp.1523-1531. (2007).
- [11] Alam, M.S., A. H.M. Rahman, M.N. Nesa, S.k. Khan and N.A. Siddique. "Effect of source and/ or sink restriction on the grain yield in wheat", Journal of Applied Sciences Research, Vol.(4), No.3, pp.258-261. (2008).
- [12] Maydup, M.L., M. Anotnietta, J.J. Guiamet, C. Graciano, J.R. Lopez and E.A. Tambussi. "The contribution of ear photosynthesis to grain filling in bread wheat (Triticum aestivum L.)", Field crops Research, Vol. (119), pp.48-58. (2010).
- [13] Minhas, A.S., A.S Randhawa and K. Chand. "Effect of awns and leaf-blades on the grain yield of wheat (Triticum aestivum L. Em Thell)", CABI, the journal of research, Punjab agricultural university, pp.2. (2006).
- [14] Larry, CP, Rosalind, AB, Reaper, JD and Earl, DV. "Radiation use efficiency and biomass production in soybean at different plant population densities", Crop Sci. Vol. (42), pp.172-177. (2002).
- [15] Maddonni, G.A., Otegui, M.E. and Cirilo, A.G. "Plant population density, row spacing and hybrid effect on maize canopy architecture and light attenuation", Field Crop Research. Vol.(71), pp.183-193. (2001).
- [16] Naseri, R., Fasihi, KH., Hatami, A. and Poursiahbidi, MM. "Effect of planting pattern on yield, yield components, oil and protein contents in winter safflower cv.sinai under rainfed conditions", Iranian Journal of Crop Science, (In Persian), Vol. (12), No.3, pp.227-238. (2010)...
- [17] Kabesh, M.O., Sary, G.A., EL-Naggar, H.M., EL-Kramany, M.F. and S.H.B. Gehan. "Effect of sowing methods and some bio-organic fertilization treatments on economic yield and yield parameter of wheat", Res. J. Agric. Biol. Sci. Vol. (5), pp.97-102. (2009).
- [18] Nakano, H. and Morita, S. "Impact of grain rate and nitrogen level on grain yield and protein content of the bread wheat cultivar "Minaminkaore" in southwest Japan ", Plant Produc. Sci. Vol. (12), pp.109-115. (2009).
- [19] Munir, A.T., A. Rahman and M. Tawaha. "Impact of seeding rate, seeding date, rate and method of phosphorus application in faba bean (Vicia faba L.) in the absence of moisture stress", Biotechnol. Agron. Soc. Environ. Vol. (6), No.3, pp.171-178. (2002).

- [20] Tanveer, S.K., Hussain, I., Kissana, N.S., Abbas, S.G. and Sohail, M. "Influence of various planting methods on yield components and economic yield of wheat". Asian J. Plant Sci. Vol. (2), pp.811-813. (2003).
- [21] Shahazad, M.A., Din, W.U., Sahi, S.T., Khan, M.M., Ehsanullah and Ahmad, M., "Influence of planting times, grain treatment on economic yield and feature of wheat", Pak, J. Agri. Sci. Vol. (44), No.4, pp.581-583. (2007).
- [22] Iqbal, M.S., Yar, A., Akram, H.M., Ali, A., Iqbal, J. and Anser, M.R. "Plant density and date of sowing influence on seed yield of wheat", Agric. Res. Vol. (39), No.3-4, pp.217-220. (2001).
- [23] El-Shami, M.E.M., Abdel-Karim, A.A., Hanna, N.S., Towfelis, M.B., Tammam, A.M., Gedan, M.K., AbdelAleem, M.M., Menshawy, A.M. and Ashoush, H.A., "Gemmiza 9: a new Egyptian high yielding and rust resistant bread wheat cultivar for Delta region", J. Agric. Sci. Mansoura Univ. Vol. (25), No.12, pp.7407-7419. (2000).
- [24] Hefnawy, F.A., Wahaba, M.F., "Effect of water stress in late growth stage of some wheat cultivar", J. Agric. Sci. Mansoura Univ. Vol. (28), No.2, pp.729-745. (2003).
- [25] El-Gizway, N.K.B., "Yield and nitrogen efficiency as influenced by rates and sources of nitrogen fertilizers of some wheat varieties", In: The 11th conference of Agronomy, Agron. Dept., Fac. Agric., Assiut Univ. November 15-16. (2005).
- [26] Al-Rawi and Khalfalah. "Design and Analysis of Agricultural Experiments", College of Agriculture and Forestry, Mosul University. (in Arabic). pp.361-363. (1980).
- [27] Egliq, D.B. "Seed biology and yield of grain crops", CAB International, ISBN:0851992412, PP.154-171. (1998).
- [28] Dokuyucu, T., Akkaya, A., and Yikitoglu, D., "The effect of different sowing dates on growing periods, yield and yield components of some bread wheat (Triticum aestivum L.) cultivars grown in the East Mediterranean region of Turkey", Journal of Agronomy, Vol. (3), No.2, pp.126-130. (2004).
- [29] Tanveer. S.K., Hussain, L., Asif, M., Mujahid, M.Y., Muhammad, S., Qmar, M., and Asim, M., "

 The Performance of different wheat cultivar/ line as affected by different planting dates and seeding
 rates under high rainfall after of potohar", Pakistan journal of Agriculture Science, Vol. (46), No.2,
 pp.102-106. (2009).
- [30] DSSAT.net, "About DSSAT: the decision support system for Agrotechnology transfer", http://www.dssat.net. (2011).
- [31] Li, Y. Cui, Z., Ni, Y., Zheng, M., Yang, D., Jin, M., Chen, J., Wang, Z., and Yin, Y. "Plant density effect on grain number and weight of two winter wheat cultivars at different spikelet and grain positions", Plos one. Journal. Pone. Vol. (11), No.5. (2016).
- [32] Hiltbrunner, J., Streit, B., Liedgens, M. "Are seeding densities an opportunity to increase grain yield of winter wheat in a living mulch of white clover?", Field Crop Res. Vol. (102), No.3, pp.163-171. (2007).
- [33] Grassini, P., Thorbun, J., Burr, C. and Cassman, K.G. "High-yield irrigated Maize in the Western US Corn Belt:1. On the farm, yield potential, and impact of agronomic practices", Field Crop Res. Vol. (120), No.1, pp.133-141. (2011).
- [34] Lioveras, J., Manent, J., Viudas, J., Lopez, A., Santiveri, P. "Seeding rates influence on yield and yield components of irrigated winter wheat in a Mediterranean climate", Agron. J. Vol. (96), No.5, pp.1258-1265. (2004).
- [35] Luo, L.P., Yu, Z.u., Wang, D., Zhang, Y.L., Shi, Y. "Effect of plant density and soil moisture on photosynthetic characteristics of flag leaf and accumulation and distribution of dry matter in wheat", Acta Agron Sin. Vol. (37), No.6, pp.1049-1059. (2011).
- [36] Dornbusch, T., Baccar, R., Watt, J., Hillier, J., Bertheloot, J, Fournier, C. "Plasticity of winter wheat modulated by sowing date, plant population density and nitrogen fertilization: dimensions and size of

- leaf blades, sheathes and inter nodes in relation to their position on a stem", Field Crop Res. Vol. (121), No.1, pp.116-124. (2011).
- [37] Yu, S.M., S.F. Lo and T.H.D. Ho. "Source-sink communication: regulated by hormone, nutrient, and stress cross-signaling", Trends in plant science, Vol. (20), No.12, pp.844-857. (2015).
- [38] Singh, G. and N.K.S. Kaur, "The relative importance of flag leaf blade of grain filling in wheat genotypes", Agril. Sci. Digest., Vol. (10), No.2, pp.105-109. (1990).
- [39] Xiaojuan, Li., H. Wang, H. LI, L. Zhang, N. Ten, Q. Lin, J. Wang, T. Kuang, Zh. LI, B. LI, A. Zhang and J. Lin. "Awns play a dominant role in carbohydrate production during the grain-filling stages in wheat (Triticum aestivum L.)", Physiology planitarium, Vol. (127), No.4, pp.701-709. (2006).
 - [40] Hanson B. "Planting rate influence on yield and agronomic traits of hard red spring wheat in northeastern North Dakota Langdon", Res. Ext. Center NDSU Agric. Report I. (2001)
 - [41] Habibullah, A., Nazir, H. Nazeer, A. Rehman and I. Faqi. "Response of row spacing and seed rate on yield and yield components of wheat". Pak.J. Pl. Sci. Vol. (13), No.2, pp.143-146. (2007).
- [42] Mahbood, A., Arian, A.M., Khanzada, S., H. Mazher, Naqive, M. Umer and A.N. Nisar. "Yield and quality parameters of wheat genotypes as affected by sowing dates and hight temperature stress", Pak. J. Bot. Vol. (37), No.3, pp.575-584. (2005).
- [43] Singh, S. and M. Pal. "Growth, yield and phonological response of wheat cultivars to delayed sowing", Ind. J. of PP. Phys. Vol. (8), No.3, pp.277-286. (2003).
- [44] Subhan, F., M. Khan and G.H. Jamro. "Effect of different planting date, seeding rate and weed control method on grain yield and yield components in wheat", Sarhad J. of Agri. Vol. (20), No.1, pp.51-55. (2004).
- [45] Singh, D. and D Singh. "Effect of leaf- blade and awn on grain yield of rainfed wheat (Triticum aestivum L.) at different stage of spike development", Indian journal of agricultural Sciences, Vol. (62), No.7, pp.468-471. (1992).
- [46] Zeidan. M.S., Amany, A. and El- Krmany, M.F. "Effect of N- Fertilizer and plant density on yield and quality of maize in sandy soil", Res J. of Agric. And Biol. Sci. Vol. (2), No.4, pp.156-161. (2006).
- [47] Abid, M., K. Alam, A. Salam, and Sh. Iqbal. "Effect of flag leaf removal on grain yield, its components and quality of hexaploid wheat", Vol. (19). No.3. (1991).
- [48] Amanullah, Z., K. Ahmad and D. Jan. "Performance of wheat cultivars sown at different seeding rate under drought stress condition", Archives of Agronomy and soil Sci. Vol. (56), pp.99-105. (2008).
- [49] Melahat, A. B. "Effect of removal of some photosynthetic structures of some yield components in wheat", Tarim Bilimleri Dergisi, Vol. (11), No.4, pp. 364-367. (2005).

JZS (2018) Special Issue, 2ndInt. Conference of Agricultural Sciences